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There are three bells which ring at regular intervals of 30, 45 and 60
seconds respectively. If all of them ring together at 1:00 PM, at what
time will they ring together again?
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Ify 43 _. find the value of V2(y* - y2). (approximately)
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What is the downstream speed of a boat when th@&d of the boat

in still water i and the speed of the river ig 20% of the speed
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When a number is divided by 8, the remainder is 3. What is the
remainder when the same number is divided by 27
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A certain sum of money at simple interest amounts to Rs.1260 in' 2

years and Rs.1350 in 5 years.
K/ /2/ _}(‘

Find the approximate rate of interest.
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If 50% of a number is equal to another number, then their ratio will
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A sum of Rs.250000 is deposited for 3 years compounded annually at
4%, 5% and 6% for the first, second and third year respectively. What

will be the amount at the end of the three years?
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What is the remainder when 201 + 202 + 203 + 204 + 205 + 206 + ...
260 is divided by 97
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Find the nature of the roots of the equation 3x -@ +3=0.
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It takes 10 hours for a person to travel a distance. If he reduces his speed by
20%, then what is the percentage increase in the time taken to cover the same
distance?
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What percentage must be added to the cost price of goods so that a
profit of 20% is obtained after allowing a discount of 10% on the

marked price?
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What is ther that can exactly divid @@* r1
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If (3/5) = 81/625, then what is the value of x* ?
qig (3/5) % =81/6258, dIx X HIAAHIE ?
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Anand and Ravi can complete a piece of work |@day5 Ravi and

Chm.r:n.ay__caﬂ complete the same work in 16 days while Chinmay and
Anand can complete the same work in 48 days. In how many days

@ne complete the work?
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There are two similar friangles. The sides of the first triangle are 2 cm
3 cm and 4 cm. The perimeter of the second triangle is 81 cm. Find
the corresponding sides of the other triangle (in cm).
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